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20 ;fdflhs ljsf; lq=g=g=kf= ( 5019376

2010 lzIff lq=g=g=kf= ( 1736800

lqe'jg cf=lj= z}lIfs ;fdfu|L vl/b lq=g=g=kf= ( 432000

dxfb]j k|f=lj= 3]/fjf/ lgdf{0f lq=g=g=kf= ( 172800

lqe'jg cf=lj= 5fgf dd{t 200000

lqe'jg cf=lj= lkmN8 lgdf{0f lq=g=g=kf= ( 432000

hg:jf:Yo k|f=lj= ejg lgdf{0f 500000

2030 vfg]kfgL tyf ;/;kmfO{ lq=g=g=kf= ( 2914800

km\ofrj/ vf=kf=lgdf{0f lq=g=g=kf= ( 1555200

3/+uf vf=kf= lgdf{0f lq=g=g=kf= ( 1014000

tnsf]6 x'b} ufh]kfvf vf=kf= dd{t lq=g=g=kf= ( 345600

2050 v]ns'b tyf dgf]/~hg lq=g=g=kf= ( 43200

v]ns'b ;fdfu|L vl/b tyf ljt/0f lq=g=g=kf= ( 43200
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30 k'jf{wf/ ljsf; lq=g=g=kf= ( 3340400

3010 :yfgLo ;8s lq=g=g=kf= ( 1382400

tfquf8 af;sf]6 x'b} 3/+uf s[lif ;8s lgdf{0f lq=g=g=kf= ( 1296000

tfquf8 b]lv 3/+uf 3f]=jf= lgdf{0f lq=g=g=kf= ( 86400

3020 l;+rfO{ lq=g=g=kf= ( 509600

tfquf8 x'b} nfdftf/f ;Dd kfO{k l;+rfO{ dd{t lq=g=g=kf= ( 259200

af;sf]6 l;+rfO{ of]hgf dd{t lq=g=g=kf= ( 250400

3030 ejg tyf zx/Ls/0f ljsf; lq=g=g=kf= ( 216000

>[hgf k|f=lj= ejg dd{t lq=g=g=kf= ( 86400

hg:jf:Yo k|f=lj= ejg dd{t lq=g=g=kf= ( 129600

3040 phf{ lq=g=g=kf= ( 1232400
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